Honeywell

MS5145 Eclipse™

Flex Stand Installation Guide

Components of Kit 46-46758

Item Item Description Qty.
a. | Flex Shaft and Mask Assembly 1
b. | Base Plate Cover 1
C. Base Plate 1
d. | #8 x 1.00" Wood Screw 4
e. | Flex Shaft Cover 1

MS5145 Flex Stand Installation Guide (Not Shown) 1

Figure 1. Components

Base Plate Installation

63.5* [ 2.50* ]

}

|

l 50.8[2.00]

T_ - _f\
| ‘I~‘ lr\ JJT; !

_J?_____g,

J 50.8[2.00 ]L—

—>

63.5* [ 2.50 |

-

l—

Drill four #39 pilot holes in the
pattern shown. Then use the

four #8 wood screws provided
to secure the base plate to the
countertop.

Dimensions = mm [ inches ]

* Reference Dimensions Only

53

#8 Wood Screws

Base Plate

Figure 2. Specifications for Securing the Base Plate



Flex Stand Assembly

Flex Shalf and
Mask Assembly

Flexible Shaft Cover

@— Base Plate Cover

Base Plate

#8 Wood Screws

Figure 3. Flex Stand Assembly

Note: To adjust the angle of the flex stand, firmly hold the bottom of the flex
shaft with one hand and push or pull the top of the flex shaft with the
other hand in the desired direction.

© 2009 Honeywell International Inc. All rights reserved.

| U THHUATITT eyt
September 2009



Free Manuals Download Website
http://myh66.com
http://usermanuals.us

http://www.somanuals.com

http://www.4manuals.cc

http://www.manual-lib.com

http://www.404manual.com

http://www.luxmanual.com

http://aubethermostatmanual.com

Golf course search by state

http://golfingnear.com

Email search by domain

http://emailbydomain.com

Auto manuals search

http://auto.somanuals.com

TV manuals search

http://tv.somanuals.com



http://myh66.com/
http://usermanuals.us/
http://www.somanuals.com/
http://www.4manuals.cc/
http://www.manual-lib.com/
http://www.404manual.com/
http://www.luxmanual.com/
http://aubethermostatmanual.com/
http://www.golfingnear.com/
http://emailbydomain.com/
http://auto.somanuals.com/
http://tv.somanuals.com/

	MS5145 Eclipse™ Flex Stand Installation Guide
	Components of Kit 46-46758
	Base Plate Installation
	Flex Stand Assembly


